Anbauhinweise Crash Ball Achsprotektoren Art.-Nr.: 555T037..

Zuerst die rechte Seite montieren!
Hinweis: Bei Daytona 675 ab 2009 seitenverkehrt montieren!

Anbau rechts

Achsinnendurchmesser 9,2mm

Kunststoffeinsatz

(T~ CZZZIZZZdg———d = |- M6x50 = 10Nm

/ Gewindehulse mit der Schraube

M6x215 von links durch die
Achse schieben, dann rechte Crash-Ball
Seite endfest montieren

Anbau links

Kunststoffeinsatz Achsinnensechskant 17mm

M6x2'\15 =10Nm

\

\\
\\
\\

£

Buchse @17mm
Crash-Ball

LSL

LSL-Motorradtechnik GmbH ¢ D-47809 Krefeld
www.lsl.eu

Rev: 01 12/02/2009



Fitting instruction Crash Balls for axle protection

Part-no.: 555T037..

Fit the right side at first!

Advice: For Daytona 675 since 2009 fit vice versa!

Fitting front, right side

bore diameter, axle 9.2mm

plastic insert
/ =
—_—— e . — — — — — — r— —
K E=======:h;1___ l='“*f _1: M6x50 = 10Nm
~ g I ] L _ _ '
it = B L e
\ L__.
Push the collar bush with thread
from the left side into the axle,
Crash-Ball

using the bolt M6x215, then
mount the right side with full
torque

Fitting front, left side

plastic insert

M6x2\'€5 =10Nm
\\ _

internal hexagon, axle 17mm

\\
\\

Bushing @17mm

Crash-Ball

LSL

LSL-Motorradtechnik GmbH ¢ D-47809 Krefeld

www.lIsl.eu

Rev. 01 12/02/2009



Instructions de montage pour protecteurs d'axe Crash Ball

N°article: 555T037..

Faites le montage du cé6té droit en premier!
Avertissement: Pour la Daytona dés 2009 le montage se fait
al'envers!

Montage c6té droit

Diamétre intérieur de I'axe Pieéce en matiére
9,2mm synthétique

(O~ CZZZIZZIdg———d = |- M6x50 = 10Nm

—_ _| 4 —_ — -
/ Poussez la douille taraudée avec

la vis M6x215 a travers l'axe
depuis la gauche puis fixez le Crash-Ball
coté droit.

Montage c6té gauche

Piéce en matiéere
synthétique Int. hexagonal de I'axe
17mm

M6x2'\15 =10Nm

\

\\
\\
\\

H ———

Douille @17mm
Crash-Ball

LSL

LSL-Motorradtechnik GmbH ¢ D-47809 Krefeld
www.Isl.eu

REv.01 25/02/2009



	555T037 german Rev01
	555T037 english Rev01
	555T037 french Rev01

